HMEEROME

B 10X %, BERAS 0 0cm?T, H24°T 0cmOEFH
‘DREISBNET., COKEIIL, IUHIZAEFITTRENR,
EDBRBELHACT 2008 TREANRILA, (B2)D7 T 711,
SNZEXDRKRENNSH THLOBMY, KEIHIZEToF-KDE
CORBERLAZLDTT, JhiZ2WT, ROBOWIZEZ L 30,

(1) A%, BEH,LIY, 2hELEFMLNBESTRLAANN T
By

(2) KEXRBHTH L | 0 HROKDRS FemTT 5,

(3) KEXNABHTH L2 0 3RDKDES IFem TT b

(@ 2)

a2
A ] B
o I i
y| " 500cn?
(e)
|| SRR :
7 |
2 |
! L R . '
0 |:5 ZLS (%)
(=5 H)



HREBEMOME

(Bl1)nk %, EoH&AHSS500cm®T, 35T 0cmO A FH

‘DREFISBNIF, COKEAIL, BUSHIZARSITTEKE AR,

IORBELM T 22008 TREANE L. (B2)D7 57718,
SHDLEIDKENNSH THLOFMY, K22 -7-KNE

EDMIEEELALDOTE, ZhizonT,

(1)
Ay

(2)

(3)

ROFIIZEZ L 3\,

AE, BE»GIL, ThEhE5FALNEETKIANIZET

KEANBHTHL | 0FERDKDEX(IFlemTT 4,

KEANNGEDTH 5L 2 0 3 EDKRDEZIIFTem TT 5,

() A EYT 15920122 A-z0F T,
L

£

122

(z)
[0

3)

54§70 A B o0y,

(DT 12315=08(2) -~

L e

AtB—
Wiy
I
IS 28
3 Jj".’

3o0—-12=|%

L 18g

NAE 1T AR =y T,

i

Ay p¥

B v a

Uc«

L
191 2" I8t 1o

1.8 (L)

‘\%—Osg ~: ' (.ﬂ)

204% (SA12 75 20150 bARL 3 AW BH 2 G4 150 &

20 % R T A>sTKoEF 3 12000 + 4000 = 2 |00o (ew3)

Ao 3T IF 2000

a2
@ 1) A’ 1 8
ey
V| 500cm’
(E2) (2)
30 ___________________
K AtB
A —
L :
B L2 3
0 15 25 ()
(% 1)
(02218 A>2VET,

| £
(0ARl = A> T= #Cn - 0.8xlo= 8 (L)
= Yooo (o) /
el Fo00cd /
.L.r.,_‘_ L Q= ¥ooe 1t Soo /
-.‘M s = ‘G (cm) /"
,// 16 Comn
ISP 20128 /
" i /
| 2000 ecm 7
I\%v‘( S= q_ﬂ
A |
Qoo Cma
S‘O O = 42 CQM)
@@ﬁ 41‘2 Chan




